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Questions 41 — 45: Choose the most probable graph for each of the questions.

A B C D E
< e e N
41. Pressure vs. the molar mass for a series of 1.00 g samples of ideal gases at constant
volume and temperature
42. The product PV vs. pressure for an ideal gas at constant temperature and number of
moles
43. The density of an ideal gas vs. pressure at constant temperature and number of moles
44, Pressure vs. temperature in degrees Celsius for an ideal gas at constant volume and
number of moles
45. The square of the root mean square velocity vs. the Kelvin temperature for an ideal gas
46. Pure water is separated from an aqueous sugar solution by a semipermeable membrane
that allows water but not sugar to pass freely. After some time has passed, the
concentration of sugar solution
A. has increased.

B. has decreased.
C. has not changed.




47.

48.

49,

50.

D. may have increased or decreased, depending on other factors.

E. is the same on both sides of the membrane.

Which of the following is the best description of a protein?

A. an alternating chain of amino acids and nucleic acids

B. achain of amino acids connected by ester bonds

C. two antiparallel chains of nucleic acids connected by hydrogen bonding
D. a chain of amino acids formed by condensation polymerization

E. achain of nucleotides connected by phosphodiester bonds

In the reaction Zn + H,SO4 — ZnSO4 + H,, which, if any, element is oxidized?
A. zinc

B. hydrogen

C. sulfur

D. oxygen

E. none is oxidized

A solution was made by dissolving calcium chloride (CaCly) in water and diluting to
500.0 mL. If this solution contained 44 ppm chloride ions, what was the concentration of
calcium tons?

A. 44 ppm
B. 88 ppm
C. 22ppm
D. 11 ppm

Which statements are true?

(a) An excited atom can return to its ground state by absorbing electromagnetic radiation
(b) The energy of an atom is increased when electromagnetic radiation is emitted from it.
(¢) The energy of electromagnetic radiation increases as its frequency increases.

(d) An electron in the n = 4 state in the hydrogen atom can go to the n = 2 state by
emitting electromagnetic radiation at the appropriate frequency.

{e) The frequency and wavelength of electromagnetic radiation are inversely
proportional to each other.

A, (b), (), (d)

B. (c). (e)

C. (a)(d)(c)

D. (¢), (d), (e)

E. (a).(b),(d)



